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Om 251 250 2406 24.8 23.8 248 250 A 02
2m 24.6 249 243 245 237 246 245 0.1
5m 23.6 235 235 23.4 235 235 23.3 0.2
10m 224 228 229 229 = 228 226 0.2
B-1m 221 21.8 22.0 22.0 231 220 220 0.0
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Om 319 315 320 323 328 319 314 05
2m 33.0 327 327 327 32.9 327 328 AO1
5m 33.2 33.2 33.1 33.1 33.1 33.1 332 AO1
10m 33.1 33.2 33.2 332 = 332 333 AO1
B-1m 33.0 33.0 33.1 33.2 332 33.1 333 AO02
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Om 10.9 10.1 9.8 103 83 10.1 9.8 03
2m 1.0 10.9 9.0 10.1 77 10.0 9.6 0.4
5m 6.7 6.4 6.1 5.7 7.2 6.1 5.7 0.4
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Om 7 0 0 0 0 2.800
PEEAI| 2m 19 0 0 7 0 1,300
5m 37 3 0 0 0 2.500
Om 3 0 0 2 0 7,500
o [ 2m 10 0 0 5 0 5,500
Ll o 13 0 0 3 0 1.400
5m 1410 0 0 i 0 2.500
Om 3 0 0 3 0 13,800
e 2m 5 1 0 3 0 12.600
L oy 1330 0 0 6 0 11,800
5m 180 0 0 3 0 500
gm 2 0 0 2 0 7.300
m 0 0 0 6 0 5.100
A Sm* 86 0 0 18 0 10,600
5m 12 0 0 0 0 700
= Om 2 0 0 2 0 8.300
’Kﬁﬂ’ " 10 0 0 2 0 7.400
5m 55 0 0 i 0 1.500
| 5m 155 3 0 0 0



